
PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

Cat MT 600 ser Side Plate R30-1400R11

CAT MT 600 Ser Side Plate L30-1400L12

Cat MT600 a ser/AGCO DT Undertruss30-120113

7x7x6' tube, black20-102224

Saddle Conv. 20-180025

Step bottom Bracket30-190316

Step Handle 30-190217

300 Saddle20-101128

400 Saddle20-101329

1

1

2

2

A A

B B

Bolt List

QTY Description

Placement

12 20 mm x 60 mm Bolts Side Plate to Tractor

12 20 mm Harden Flatwashers

24

3/4 x 2 1/2 Bolts

Side Plates to Undertruss

20

3/4 x 2 1/2 Gd 8 Bolts

Side Plates to Tubes

4

3/4 x 7 x 9 U Bolts

Conv to Tube

12

3/4 x 2 1/2 Bolts

Saddle to Conv

64

3/4 in Lock Washers

64

3/4 in Nuts

4

Nylon Straps

Tank to Saddle

Side Mount

CAT Challenger

MT635,MT645,MT655,MT665

MT635b,MT645b,MT655b,MT665b

Front

2

3

1

4

7

5

6

8 or 9

Price List
300 gal w/Tanks $5747.00 
400 gal w/Tanks $6330.00

Limitations may apply.  
Please consult API Sales at 

800-288-1117.

300 ID:  AMC-DTMT6B84-0208-SMS-300R
400 ID:  AMC-DTMT6B84-0208-SMS-400R




